_\: r P,
7 iy

g —————

™~ 8

I: -~ |
T 460 MLX)I W L0+ i a(x)

|, /

L C/ \ : . .
um KR+(X) = K- lm -“Lx)

X=2C X>C
| ~ N\ R .
non |1+ - C\bQ\ L £ - \im al(x)
Y2C v N3 Y3 > 7
Cas
e | ¥ (X) \\m-‘-bﬁ)
AT v = T Y
X3 O
p— ﬁc 3 A,




K —e)
)

P !'SL.‘.

(4
v o

X +2

(v A
A T

-~

\Yﬁ.l

™

N

A
%

Iwi

o

'”NAVJ,/CXWWJ+W

Y —9
N~

.A/ |
2 N
ERE /fq
(i
i = g 1S
| //
/-{T
Xd
///
CLN TN
q
([~ [ IA
4 < /VA\
X O
~| N ),
<t
PRt
3 \ <
B )
0
B | |4
) \/V\Au ( L
LK (|
M ( _,_ T
; ,m, _ _.n :...
< M 1
0 wv




